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Date:02.05.2020       Class: VI                         Day: Saturday 

 

 Subject : English 

Choose the most appropriate option from the ones given to complete the following sentences: 

(a)  The ------------- was caught. 

     (i) thief                  (ii)  tree              (iii) shoe             (iv) thieves 

 

(b) The -------------- were jumping on the bed. 

     (i) children            (ii)  bucket          (iii) money         (iv)  child 

 

(c)  The children and ----------------- were rescued first. 

     (i) boats                 (ii)  drift wood    (iii) woman        (iv) women 

 

(d) The farmer took his ------------------- for grazing. 

     (i) sheeps               (ii) dog                (iii) cat               (iv) sheep 

 

(e) The ---------------- was new. 

     (i) monkey             (ii) furniture        (iii) furnitures    (iv) shoes                 

 

Subject: Maths  

1. Which of the following is not zero? 

A. 0÷ 5 

B. 0+2 

C. 0×0 

D. 0/2 

  2. What is the additive identity of 99 

A. 1/99 

B. 99 

C. 0 

D. 1 

   3.  Closure property is satisfied by the whole numbers with respect to which of these operations? 



A. Addition and subtraction 

B. Addition and multiplication 

C. Addition and division 

D. Multiplication and division 

   4.  What is the predecessor of the natural number 1? 

A. 0 

B. 2 

C. 10 

D. Does not exist 

 5.  Which of the following statements is true? 

A. Every natural number is a whole number 

B. Every whole number is a natural number 

C. 1 is smallest whole number 

D. 0 is the greatest whole number 

 

 

Subject: Physics 

MULTIPLE CHOICE QUESTION( Select the right option):- 

1. 24 Hours is equivalent to------------second. 

a) 86400 b) 85400 c) 84600 d) 68400 

2. 10 decades is equivalent to-------------. 

a) 1 century 

b) 10 century 

c) 100 century 

d) 1000 century 

3. The motion of the ceiling fan is --------- and -----------. 

a) Rotational and circular 

b) Rectilinear and circular 

c) Periodic and rectilinear 

d) Rotational and rectilinear 

4. Making a rough measurement, which may be inaccurate is called-----------. 

a) Relocation b) Estimation c) Mensuration d) Integration 5. 1 metric ton is equivalent 

to ----------- quintals. 

a) 10 b)100 c)1000 d) 500 

 

 



Subject: Chemistry 

Multiple Choice Question (MCQ)  

1. Which one of the following is used to made nails?  

(a) Leather  

(b) Paper  

(c) Iron  

(d) Cotton  

  

2. Which one of the following is used to made utensils?  

(a) Wood  

(b) Stone    

(c) Aluminum  

(d) Leather  

  

3. Biscuit is an object. Which is made by the combination of three materials, wheat flour or maida 

…………. and ghee or ghee.  

(a) Vegetable  

(b) Sugar  

(c) Tea  

(d) Coffee  

  

4. Cement, gravel, sand, water are used to made ………  

(a) Dry cell  

(b) Ball pen  

(c) Concrete  

(d) Tea  

  

5. Water, Tea-Leaves, Sugar and milk are used to prepare ……….  

(a) Boil rice  

(b) Tea  

(c) Dry Cell    

(d) Vegetable curry 

  

 



 

Subject: Biology 

Multiple choice questions :  

  

1) Goitre: Swelling of thyroid glands occurs due to the deficiency of   

a) Iron       b) Potassium    c) Phosphorus       d) Iodine  

  

2) Rickets is caused by the deficiency of  

a) Vitamin A     b) Vitamin D      c) Vitamin C     d) Vitamin B       

  

3) Read the food items given below.  

i) Wheat    ii) Ghee       iii) Iodized salt     iv) Spinach (Palak) Which of the 

above food items are ‘energy giving foods’? a) ii and iv    b) ii and iii     c) i 

and ii     d) iii and iv    

  

4) Which of the  are essential for body growth and formation of new cells?  

a) Carbohydrates      b) Protein     c) Minerals      d)Vitamins  

  

5) The indigestible material in food is known as  

a) Roughage       b) Minerals      c) Vitamins     d) Fats  

  

 

Subject: S. S. T 

Q. Multiple choice questions[MCQ]  

1. A piece of Rock which burns as it falls through the earth’s atmosphere is called a  

a. Meteor                     b. Asteroid                     c. Meteoroid             d. Comet  

2. The part of a planet around the Sun is called its  

a. Revolution                b. Rotation                     c. Orbit               d. Axis  

3.__________ is a small celestial body revolving around the planet.  

a. Meteors                      b. Satellite                     c. Comet             d. Asteroid  

4. Who was the first man to walk on the moon?  

a. Neil Armstrong           b. Rakesh Sharma            c. Yuri Gagarin                      d. Alan Shepard                             

 5. How far is the moon  from the earth?  

a. 200 million km           b. 150 million km            c. 384, 400 km                     d.684,900 km  

  



 

Subject: Computer (Chapter 1)  

Multiple choice questions (select the correct one):- 

   

1. Which generation language is available for Micro-computers? 

a) First   

b) Third        

c) Fifth  

d) None of these 

 

2. Example of Low-Level Language is: 

a) Machine Language  

b) Assembly Language        

c) Both of these 

d) None of these 

 

3. Example of High-Level Language is: 

a) JAVA    

b) HAL        

c) FORTRAN         

d) None of these 

 

4. Example of Very High-Level Language is: 

a) COBOL    

b) C++ 

c) ALGOL 

d) None of these  

 

5. A Programming Language  consists of _____ 

a)  Symbols and Characters  

b) Rules of its usage 

c) Both of these       

d) None of these 
 

 



                             fgUnh fu;r dk;Z &12 

   fnukad%02-05-20          fo"k;% fgUnh            d{kk% 6 
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